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ROAD INSPECTOR IN RURAL DEVELOPMENT AND PANCHAYAT RA]J
DEPARTMENT IN TAMIL NADU PANCHAYAT DEVELOPMENT ENGINEERING
SUBORDINATE SERVICE - 07/05/2023

1.  Inwhich year 15t Finance Commission established?

a. 2015 b. 2017 c. 2019 d. 2021 e. Answer not known
b eI 517 HFHSGW GBUGSSUILLL 17
a. 2015 b. 2017 c. 2019 d. 2021 e. alewL @g)rﬂu_l@ﬂﬁi)m&)

2. Components of GST are of

a. 3 types b. 2 types c. 5 types

d. Multiple types e. Answer not known

GSTullesr o _eiTeN_dEID 6T6HTLIG)

a. 3 aumaLIL@LD b. 2 cumaslLGD C. 5 cuensLILIBLD
d. uev euemaLILBLD e. alewL Oaxfweisoensy

3. Self-Help Groups Bank Linked programme (SBLP) started in

a. 1996 b. 2006 c. 1992 d. 2002 e. Answer not known
gl o Sald Gpdseel aumid Qe LD (SBLP) eyyblisstin’ L syemwib
a. 1996 b. 2006 c. 1992 d. 2002 e. alwL Ggflwalsvenso
4.  Match:
A. Year of Great Divide 1. 2011
B. Year of Small Divide 2.1961
C. Year of Population Explosion 3.1951
D. Demographic transition 4.1921
A B C D
a. 4 2 3 1
b. 4 3 1 2
C. 2 3 1 4
d. 4 3 2 1
e. Answer not known
a. waser CgTemas UL Liflalamer ouL6wi6G 1. 2011
b. wesel OxTens Hxm Llene SLEwHIG 2. 1961
C. &6 OFHTensd Oeuglil] SLe(H 3. 1951
d. a6 OHTMS OTHIH6D 4. 1921
A B C D
a 4 2 3 1
b 4 3 1 2
C 2 3 1 4
d 4 3 2 1
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e. allewL Gaflweledenso

5. Which of the following is incorrectly paried?

1. Monosomy -2n-2

2. Trisomy -2n+1

3. Tetrasomy -2n+2

4. Nullisomy -2n+3

a.1land 2 b.1and 3 c.2and 4
d.1and 4 e. Answer not known

ST euBmle 61g FAulmer Eeneuisvev.

1. GurGsm@amio -2n— 2

2. 1gemyGamih -2n+ 1

3. QLLgm@ami -2n+ 2

4. Be0IIGETLO -2n+ 3

a. 1 Bmib 2 b. 1 By 3 C. 2 wBpd 4
d. 1 g 4 e. alewL O flwalsvenev

6. Among the following which is a nitrogenous fertilizer?

a. Urea b. Potassium Sulphate c. Bone ash

d. Gypsum e. Answer not known

SPHHMILUBBIGT 61H MBLJemen GuBmIeTen © Fib?

a. uyflwir b.Gum Lrdlund Feo@ur C. GTIDLF  FMIDLIGD
d i e. allewL &6a M wealsvensv

7. Aluminium reacts with Sodium hydroxide to give

a. Sodium Oxide + Alumina + Hydrogen

b. Sodium Meta Aluminate + Water

c. Metallic Sodium + Aluminium Hydroxide

d. Sodium Meta aluminate + Hydrogen

e. Answer not known

Sfleiwb GFmouid evaml JrémaBL el alleve b
Gamouib gHmev® + Sjevillerm + emamL Jegest
Gamouib Gl LT SieIdiGear + BT
o Beura Ggmouwib + Siiflefiud masL Jréemner®
Gamowib G LT SeIdiBear + enamL Jegei
alenL  OFfluialsoensv

©Can o

8.  Calculate the velocity of a moving body of mass 5 kg whose linear momentum is 2.5 kg

ms1.
a. 0.2 ms1 b. 0.7 ms1 c. 0.5 ms1
d.1.2 ms?! e. Answer not known

5 @& BHenpuieien QuUIHGeTTENE ChTECHT (B o HHd 2.5 H.d Bal' eaeafled, DHeT Hawa
CousdHmsd Heobd[BHb.

a. 0.2 15a1"! b. 0.7 el c. 0.5 e

d. 1.2 e’ e. alenL QxfNwelsvenev

9.  An electric heater of resistance 5 Q is connected to an electric source. If a current of 6 A

flows through the heater, them find the amount of heat produced in 5 minutes.
a. 9000 J b. 25000 J c. 54000 J d. 84000 J e. Answer not known
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5 Q WeigpmL Osmewi  0eT @GOLMBM @ e  puSHIL T DevenibslILbBEBEH.  6A
WG LoTenig @b &GOLmY eufwns utwidpgl  eeled 5 HOLmSellsd 2 (Heum@ld
CAUILSHET SIETENE  HT6U0TH.

a. 9000 J b. 25000 J c. 54000 ] d. 84000 ] e. alewL OHfNwealedenew
The first batch of Women Military Police was inducted into the Indian army in

a. April 2021 b. May 2021 c. June 2021

d. July 2021 e. Answer not known

@hHW BrreameubHHed (PHIPHeoTs Cuewnt @reamie GumeSsnT 6bhgeH SLewI(H
GairdhasILIL L eorT.

a. gliged 2021 b. Gw 2021 C. sgeait 2021

d. ggeemev 2021 e. alewL OHfNwaleenew

The National flower of India, Lotus is botanically known as

a. Centaurea b. Nelumbo Nucifera c. Acaciaa

d. Lisianthus e. Answer not known

@hgwraler Cxdlw 60T, SHTOMJ, SHTeugaluled FHwms aaIB SSlWLUBGHBEI.
a. GgerGLmium b. GpeobGuT Buyd. .uym C. SBTOGWIT

d. emevflwimbgerd e. alowL GFNuwalsvensv

In Indian, the political parties are given official recognition by

a. The President b. Parliament

c. Election Commission d. All Party Parliamentary Committee
e. Answer not known

@phHwmaled STFuied SLFBEHHGH DHSTIL LTEUDTS DRSS ULPHIGHIS]
a. GRWISG HEMEVAIT b. umgmepL&ETBLD

c. CaiTmHed SLemEMILILD d. smansHgs s UTITEBHORIH & (LD

e. alemL OFfluaiedensv

How many members are being nominated by the President to the Rajya Sabha?

a.21 b. 12 c.18 d. 20 e. Answer not known
LOMHI6VRISEMEneUUTED MTTHLIHWITED 6THHene 2 mILINernTaeT B GlauiuwliLIhalenmetT?
a. 21 b.12 c. 18 d. 20 e. alew OFfwaledenew

Which is the first metal that prehistoric man has started using for many purposes?

a. Iron Ore b. Gold c. Silver

d. Copper e. Answer not known

augeoTBPBEG (WHMSHW BTeuSHHBeCW L6l HeTed HWIGLIGSHBILIL L (pHev 2 Geomsd 61517
a. ®mbUsh FH1al b. smsbD C. Geuerrerl

d. smoyb e. alewL Gxflwailsdensv

Which states are benefited from Tungabhadra Project?

a. Andhra Pradesh and Tamil Nadu b. Andhra Pradesh and Karnataka

c. Andhra Pradesh and Maharashtra d. Andhra Pradesh and Odisha

e. Answer not known

SRSUSTT HU L SHHeV(HhFH LWETeNLU|LD LOTHIEUHIGHET WITen6u?

a. bl rGsad oBmIb SUDHTH b. @bl pCsah WBBID STHTL ST
c. gl UgGssib wBBID WETITOQTT d. epdr Csad wBmID e

e. alewL OFflwealsdenev

The Headquarter of Pavan-Hans Helicopter Ltd. is
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a. Kolkatta b. Mumbai c. New Delhi

d. Chennai e. Answer not known

LIGUGIT-QBT6ITer0  QUTEDIeVRIF oa1Td)  (OamellsTiLT) Bmieuarshaer &Hemevenlouil b
DG LD.

a. OameOsHHT b. @wienus C. UsIOLeved

d. Goeiener e. alewL OFfwalsdensv

Match correctly the following Indus Valley Civilization sites with its locations.

A. Harappa 1. Sindh

B. Mohenjadaro 2. Gujarath

C. Kalibangan 3. Punjab

D. Lothal 4. Rajasthan
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 3 4 2 1

d. 2 1 4 3

e. Answer not known
fbg sweel praflasdlear Hemmesemen SigHaT SHULILSBHIL a1 Fflwurs QUTHEHHIS.
A. emyiumr 1. dpbgl

B. GurGamnehasr@ym 2. &2ITSH

C. sreflumises 3. UEhamL

D. Geurgzev 4. JTEQerOSHT6H
A B C D

a. 2 4 1 3

b. 3 1 4 2

C. 3 4 2 1

d. 2 1 4 3

e. alewL OFMwealedensv

Kamran, Askari, Hindal are brothers of

a. Akbar b. Humayum c. Shajahan

d. Aurangzeb e. Answer not known

STOYTer, Sievsmfl, anlewrimed wrmenLw FCHTHITH6N?

a. O|BUT b. ameiomuyes C. QQTEHBITGH

d. qemgmisdl e. alewL Gafuealsvemnsv

Which of the following inscriptions describes the victories of Pulakesin II?

a. Aihole b. Saranath c. Sanchi

d. Junagath e. Answer not known

spdaremiLeeuBnBled @yeniLmbd LelGasFuler Geouppsaner alleuflb@ld He0Oeul B 61517
a. 9UIBCHTeL b. FmmIsH C. Fnehdl

d. sramss e. alewL OHfwaledenew

The Caucasoid is known as race.

a. Asian b. European c. African

d. Australian e. Answer not known

BTEHFTUIH  6T6ITLIGUTHEIT BSHSHT.

a. opflwiser b. sGyminiuwiiteseit c. oyniféasirasel
d. oevgGreduwiitaseit e. alewL OHfNwaledenew
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21. The word ‘Secularism” was added into the Preamble by the 42nd Constitutional
Amendment Act of
a. 1950 b. 1947 c. 1976 d. 1956 e. Answer not known
FOWFFTIUBB  610IB  auMTHme  42-0ux  SFwevemiolilyg — HHSHHFFLLSHHGT  Lp6eoLd
(waamruiled GaFTohslILl L &LewiH

a. 1950 b. 1947 c. 1976 d. 1956 e. alewL OxNwealsveney
22.  Which Article and Part of the Constitution of India deals with loss of Indian
Citizenship?
a. Part 111 b. Part II Article 5 -11 c. PartII Article5 -6
d. Part IV Article - 12 e. Answer not known

@haw ordfwed Semwlls FlLsdHear ebsl Lfley wbpid Ufleyser @uufleno SLpdHHe0
uppléd GG eTsent?

a. Ufley III

b. Ufley II owduwed @Emwiny FLb 5 WwHed 11 eaueny

c. Ufley II odwed ool FULID 5 (pHe0 6 6Ued]

d. ey IV opdwed semwoin] gL - 12

e. alemL OFfwalsdemnsv

23.  Choose the False Statement with respect to the qualification for the election of Indian
President.
a. He/She should be a citizen of India
b. He/She must have completed the age of forty years
c. He/she must not hold any office of Profit under the Union, State or Local
Government
d. He/She should have the other qualifications required to become a member of the
Lok Sabha
e. Answer not known
SHUBTeNSH FnBplenend ST (Hb.
OhFHwd GuursEdh HmevalT CHTHedev GUTLIQUIBSBEHTET FHEH 6N
a. BpHU GYERTS/ GYEaTTs B HHHe GCealewiBLD
b. 40 awg yYTsd SDLBSATTE B HHHD GauewiBLD
C. mBOeuewt oHGeom, wmHlev SIFGeom, Sevevd 2 6o F Sl HelGeor  2amgluib
CupId uFHauled BHHHD Gnl TSI
d. wssenemer o miilemTausBaTar HGHulmerns QuBBHSH0 GeuewiBLd
e. alewL O flwealsdenev

24.  Who said that “To Call Woman the weaker sex is a libel; it is man’s injustice to

Woman”?
a. Jawaharlal Nehru b. Mahatma Gandhi c. Swami Vivekanandar
d. Savitribai Phule e. Answer not known

“Euentaemenll Lisvaierond LTellerd eIl OFTeveuSH @(hH DUSTB: DiH OuewT BISHHBES
SN DMIPSHGD DIBHWTGD” 61yl SamlwieuT wimr?

a. meauamieumed b b. warHwT HMHS C. goumbl elGeusmeha T

d. gmalsfumus 1yGev e. alewL OHfwaledenew

25.  Simplify: 20 + [8 x2+ {673 -10+ 5}}
a. 44 b. 50 c.52 d. 56 e. Answer not known
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FHbGHH: 20 + [8>< 2+{ﬁ—10+5}}

a. 44 b. 50 c.52 d. 56 e. alenL QxfNwelsvenev
Find the HCF of 867 and 255

a. 03 b.51 c.17 d. 255 e. Answer not known
867 oBMID 255601 15.0UT.60 HT6wISH

a.03 b.51 c.17 d. 255 e. alewL OHfNwealedenew
Ifm=25x 37 x 510 and n =27 x 38 x 712, Find the HCF of m and n.

a.2’” x 37 b. 25 x 38 c. 27 x 38

d. 25 x 37 e. Answer not known

25 x 37 x 510 pmd n =27 x 38 x 712 aafled m wopmid 1 &1 15.60UT.60. HT6RIS.
e. alewL OFfualsvemnesv

If 0.75: x :: 5: 8 then x is

a.12 b.1.2 c.0.12 d. 120 e. Answer not known
0.75: x :: 5 : 8 arevfled x-631 oG
a. 12 b.1.2 c.0.12 d. 120 e. alewL OQxNwelsvenev

If3x x=4 xythenx:yis

a.4:3 b.3:4 c.9:12 d.12:16 e. Answer not known
3x x=4 xyeeaied x:y=?
a.4:3 b.3:4 C. Ol 17 d.12:16 e. alenL Qxfwealsdensv

Arun has paid Simple Interest on a certain sum for 3 years at 15% per annum is Rs. 450.
Find the sum.

a. 800 b. Rs. 900 c. 1,000 d. 2,000 e. Answer not known

SIHWT @ GPIN L Opmmsdsd 15% ey ofsb 3 ouenpaen &fsHxs Rs 450 sel
AL RUITES CFVSHHOTED DIFMEVDH HTEHISD.

a. 800 b.Rs.900  ¢.1,000 d. 2,000 e. allenL GFfwealsdenso

A principal becomes Rs. 2028 in 2 years at 4% p.a. compound interest. Find the
principal.

a.Rs.160  b.Rs.1875 ¢.Rs.1900 d.Rs.2000 e. Answer not known

P SlFeTas 2 iBHHeled WiBhEH 4% gl Bauiguied Rs 2028 o5 oudmal erefled
SIFMEVSH  HITEIH.

a. Rs. 160 b.Rs. 1875 ¢.Rs. 1900 d.Rs.2000 e. afewL Gafuieisdemnso

A man takes 15 days to finish a job whereas a woman takes 20 days to finish the dame
job together they worked for 6 days and then the man left. In how many days will the
woman complete the remaining job.

a. 4 b. 6 c.8 d. 10 e. Answer not known

QT Couewevenw! (PIY&EE T SLewl 15 BILSEHD T Ouewt 20 HTLHEHD  IHHSHI
Caredleamett. @meurmd Gaibg Sibd Cousmevenw! 6 HIL&6T OFUISH LIBEG DibHSH SLewT
Gouemevenw! il (b OFeim aNBSBTT. WH(eiTen Coueneven! Db H O 61HHemerT BT H6ille0
(WpIgLILImT?

a. 4 b. 6 c.8 d. 10 e. alewL OFfwaledenew

A works 3 times as fast as B and is able to complete a task in 24 days less than the days
taken by B. Find the time in which they can complete the work together.
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a. 3 days b. 9 days c.12days d.24days e. Answer not known

A st B 3 amlgeuid 3 wLmE Gausons @b Gaumevenuwl QFUIG  (LPIQLILITT.  SI6UTT60
SbHFHL Umiemw B apdhais Osmemi CrrsHemas el 24 BIL&6T GHMBalTd 6IhdHdHl (PYHD
WdpgH. Bmaumd CFibha b Geoumevenwl (P9dhsd G CHIHmSH ST

a. 3 [Bir_abeit b. 9 m et c. 12 p el

d. 24 B sei e. alewL OFfwalsdensv

Probability of getting a job for a person is gand the probability of not getting a job is

X )
—, then the value of x is

8 15
a. — b. —

. d. E e. Answer not known
15 8 4

N
o1 w

QM BUBDEG GCouemevr SMLLILSBEHTE HBHLDHH6 3 Gouemev  SHleMLHBMD60  BHLILISBSTET

BBDHHE| 6163160 X-631 LOFHILIL]

1
a.i b—5

. C. 3 d. 3 e. alenL OQxNwelsvenev
15 8 5 4

Find the simple interest for Rs. 20,000 for 4 years at 10% p.a.

a. Rs. 7,000 b. Rs. 8,000 c. Rs. 9,000

d. Rs. 4,000 e. Answer not known

Rs. 20,0006@ 10% eaullp aispld 4 ewiBHEHHEG DML HGWD SHalall g SHTRIH.
a. Rs. 7,000 b. Rs. 8,000 ¢. Rs. 9,000

d. Rs. 4,000 e. alowL OFflwalevensy

Find the sum of 0.40 + 0.43 + 0.46 +...+1

a.14.7 b.15.7 c.16.7 d.17.7 e. Answer not known
0.40 +0.43 + 0.46 +...+1 e1etiB QOFHTL_MeT FnBHL HT6WID

a.14.7 b.15.7 c.16.7 d.17.7 e. alewL OFNwealsoenev
Find the least positive integer n such that 1 + 6 + 62 +.... + 6" > 5000

a.n=5 b.n=4 c<n=6 d.n=7 e. Answer not known
1+6+62+....+ 6">5000 eiesipeur Siemwujd EFABNW 1OeNS (IpIY 6T6%T N BT,
a.n=>5 b.n=4 c.n=6 d.n=7 e. alew OFfwaledenew
Swadeshi movement led by in Tamilnadu.

a. vV.0.C. b. V.VS. c. Vanjinathan
d. Neelaganda Brahmachari e. Answer not known

SODHTL 960 &8HHF Buidbsld HMeLEMLOUTEL ML OILIBBSI.

a. ae_ .4 b. a1.8eua C. aUTEhFBTHEH
d. BevsewiL LiyibFa e. alewL OxfNwaledenew

In which year was the Vernacular Press Act passed by Lord Lytton

a. 1875 b. 1885 c. 1877 d. 1878 e. Answer not known
ol Lry GQumhll usdfldens gL, elLer LFyeumed SuIBBUULL e b
a. 1875 b. 1885 c. 1877 d. 1878 e. alewL QFfwailsdensv

What is the name of Bhagatsingh’s Mother?
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a. Lilavati b. Vidyavati c. Bhuvaneswari
d. Lakshmi Kaur e. Answer not known

USSHF ST STWMT QLT

a. eSevmeud) b. algwimeud) c. LeuGererveu
d. ol &l sar e. alewL OHfNwaleenew

Which National Leader of India who died on 27 May 1964?

a. B.R. Ambedkar b. E.V. Ramasamy c. Abulkalam Azad
d. Jawaharlal Nehru e. Answer not known
27 Gw, 1961 — 60 @pHs GbhFHwreleasr Chdwd HeweveuT wimi?
a. B.R ouBugat b. E.V. gmogmd C. SIL6LH6EUTD SLFTH
d. meuamiteored Gm(H e. alewL OHfNwaleenew
Match the following;
A. Dravidian Home 1. Maraimalai Adigal
B. Thozhilalan 2. Rettaimalai Srinivasan
C. Tani Tamil Iyakkam 3. Singaravelan
D. Jeeviya Saritha Surukkam 4. Natesanar
A B C D
a. 4 3 1 2
b. 3 2 4 1
C. 4 2 1 3
d. 2 1 3 4
e. Answer not known
QUTHSHHIS.
A. HyrelLT @edevld 1. LDEDMBLDENEVULILYEH6IT
B. Qgmblevrerest 2. OrLenL1oeney Feflleuraet
C. Qzmsomeres 3. Amsny GeueviT
D. saissitld Bussd 4. mBGLgeImT
A B C D
a. 4 3 1 2
b. 3 2 4 1
C. 4 2 1 3
d. 2 1 3 4
e. alemL OFfluiaisdensv

What is the most sweetest thing that makes men happy? From the Kural “Mannuyirk
Kellam _Inidhu”?

a. Benefits a father confers on his son

b. Benefits a son confers to his parents

c. Knowing that the progeny excels them in knowledge

d. Hearing the son as great Hero

e. Answer not known

LOSTEDIUNTESG 616060MD Saligl 61517

a. HHMS WSBHTHBHID [Heors b. wae FHoHHGH UBBID 2 Hai

C. Sl SDIHEH6T Difla|emL 6D d. sen wamen wralyer sers Gl L6d
e. alewL O flwalevenev

What is compared to the herbal tree grown at the center of a home town in the “Kural’?
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a. Knowledgeable person b. Generous Man c. Noble Person
d. King e. Answer not known

oarflest BB 6UGTTHEH HHBTGHD LFHMS eueiTEheuT wWrGrm® eULIGaSBmT?

a. oleyent Guimi b. GumBSHmSWITT C. gmenGmmit

d. sp&r e. alewL OHfNwaleenew

Which of the following pairs is not correct?

i. [lanjetchenni - Chenguttuvan

ii. Mangulam - Tamil Brahmi inscription

iii. Uruttirankannanar - Pattinappalai

iv. Velir Chieftains - Thirthiyan

a.ionly b. ii only c.iiionly  d.ivonly e. Answer not known
SlpsoaiLauBnBled 6he Eenewl HaUBT6ISHI?

1. ®enehBFL OQFeiten - QFmIGL_(Heued

1i. LOMMBIG6NLD - O Ugmd 6066l (B

. o (hSHHIhIGewTenwTenTT - LI g6 ILITen60

iv. Geueflitgev FHBmysai - FlFHwiest

a. 1wl @B b.iiwi @G ciliwi@d  d.iv ol G e. alewL OFNwealeoenev

Name the major tribal revolt took place in Chotanagpur region.

a. Wahhabi Rebellion b. Santhal Hool ¢. Kol Revolt

d. Munda Rebellion e. Answer not known

GamiLm mpréyT uGHuled BLBS WsLOLMw LpEiGlulenT SleniTdd

a. suammul &HeniTsd] b. gmpgevisefer dlenisd) c. Camed Hengd
d. qpewim denitée e. alewL G fluieisdensv

Where was Captain Lakshmi Sehgal born?

a. Chennai b. Calcutta c. Tanjavur
d. Singapore e. Answer not known

GalLa 6ol &l QFHe0 6mIG LIBbHeuT?

a. QFeener b. se0sHHT C. BHEhFTEUT
d. dmisriy e. alewL Gxflwalsdensv

What according to Valluvar is the way that will not destroy one, s own wealth?

a. Avoid theft b. Being free from covetousness c. Shun falsehood

d. Be unfriendly ~ e. Answer not known

RUHUHEML U GF606UD (HMBWTIDED E(HHH GUTEHAUT FnpID 6uldl uwiITg?

a. &one| GFuiwTenD b. st QuImeT elHbLTENLD c. Qumul G&FTeLEITEMLD
d. ply umgrlLmenio e. alenL OFflwaisvemnev

Which statement is true about the practice of Sati?

i. Raja Ram Mohan Roy took the oath to abolish the Sati.

ii. He helped William Bentinck to abolish this practice.

iii. The practice of Sati a punishable offence was declared in 1829.

a.Only I b. Only ii c. Only iii

d. i, ii and iii e. Answer not known

g8 meL(pemp uBPluw Fhlwmer gaBplenet/ abBupismend BHihOHHHHID

1. grggr gmb Gunser grul @he FH e@ID BOL (B @SS o BIFEWTS aBSHBTT
ii. Bhs HOL (Bl @HE aleveduid GLETIYH-BMBE 2 a6t

iii. 8 UPESHD HMILewandbGH il GBBLTE 1829860 SNflaldaalIul L g|.
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a.1 wl @ b.ii G c.iii ol B

d.i, ii wmmo iii e. alewL OHfNwaleenew

The Government of Tamil Nadu announced that 2713 Government will get hi-
tech computer labs.

a. Primary Schools b. Middle Schools c. Secondary Schools

d. Higher Secondary Schools e. Answer not known

2713 && BHEHHG 2 WTH] Swial QLUIISRISET GUPRISILBLD 66T HLOWDHTH
& SilallHBIeTeNgI.

a. &Ll Leier b. BBBemeLr UeiTer c. Gueveneorll Lisier

d. 2 _wimemeorl Lieier e. alewL OHfNwaleenew

Choose the wrong statement about Education Policy in the British Rule.

i Divided into 4 periods

ii Commenced with Sir Charles Wood’s Despatch in 1845.

iii It is also called “Magna Carta”.

a. Only I b. Only ii c. Only i and ii

d. Only iii e. Answer not known

SBIBSCeowT g flufled Hevald Osmeiens LBPW SHeupmer FnBplenars GCHTHOHBHEBLD.
1. BTeE STevmisenTs LIfldaliul Berengi.

ii. 1845860 & &iteverd 6yl GLeBULF OFHTLMISLILILL H

iil. @& IHam STILLT 6TQIBID SIMWSHSLILBSH BB

a.i L@ b.ii wl @Bid C.1 oBdmIb il L B
d. iii o’ @ e. alewL G fweisdensy

Which of the following is wrong Statement?

i Tamil Nadu stands second in area and production of coffee next to Karnataka.

ii Coffee plants are grown only in the hills of Western Ghats.

iii Tamil Nadu ranks second in area and production of Tea in India next to Assam.
a.ionly b.iionly c.iandiionly d.iandiiii e. Answer not known
SLPHEWIL UBMIOT HeumTer dmBplener GBILILIBHS.

L. sl o BubdHuied SiHer ugliuenaled HTHTLIS LIHLSHBEG DIBGSBH  SOWDHTH
@TeWILMOLLD 6uBHESHBH.

ii. Comg CHTLTFS wewevseafed WL GWL ST LUIfLLLGSBS

iii. GBguiemev vLUIAGL uriy BB o BuSHHUT  BhHwralsd SIFTD  WLIHVSHHBE
SIBSHILILQUITS SODBTE STRILTOLLD 6usHSBSH

a.i @B b.ii il Gb C.1 oBmib il L G

d.i wBmw iii G e. alewL OFfwalsdensv

Choose the incorrect statement about the strengths of Indian Economy.

a. India has a mixed economy b. Industries plays the key role

c. India has a fast growing economy  d. Fast growing service sector

e. Answer not known

@hHWL QUTHEMTHTTHHE LIOMIB6T 6B HeWeoLILled OUTHHSTSH UTEHSWHmS CHTHOH 0.
a. @hHWT b ool QUITHETTHTILD

b. QamfBsems (W UkEG udsBBa

C. @bHWT Bouslomd eueM(HLD QUTHMTSHTIHMS CETemIBaTeng

d. Gausrs ealenmd CFemen Hienm

e. alewL Oxfweailedensv
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The Current Employment trends are

i Three has been a growth in part-time employment

ii Increasing self-employment

iii Full employment

iv Firms using fewer full-time employees and tending to offer more short-term
contracts

a. i, ii, iv only b. ii, iii, iv only c. i, ii, iii only

d. I, iii, iv only e. Answer not known

SMHTe0 Geuemeveuruiiyy GuTd@G senTeueT

1. ued Gry Geuemeveuruiliiled @ eueNTFS BHbHEH IHSBSH

ii. oFHaMdHa aumbd &u — GeaueneveumuiliL]

ii. prp Geuemev euTUIIL] Hlewev

iv. Fpleuemsst @ oo BIbsy eamfursmenCu LWSLUGSHIH0 OBEBID GBS ST6v
QUILHSLI LIenNBm6T SH(HoUSHILD.

a.i, ii, iv L@ b.ii, iii, iv G0 c.i, ii, iii @b

d.i, iii, iv @0 e. alewL QFfwalsdensv

The Causative Organism Bordetella Pertussis affecting the respiratory tract causes

disease.
a. Diphtheria b. Tuberculosis c. Polio Myelitis
d. Whooping Cough e. Answer not known

Gpmuis  srgewilwmer  GUITOLGLedeomr  GUITGHD  gGouTsdds GWTW  UGHow  UTHSS
_ Cpreow gBUGSHBBSI.

a. OxmewienL SIpBd CpTul b. s1a@pmrul C. CumedBGuim emLoedligerd

d. sd@anear B mwed e. alew O fwialevenev

Among the following animals, whose saliva contains the bio-chemical substance used
for the preparation of pharmaceutical drugs that can treat hypertension.
a. Oryctolagus Cuniculus b. Calotes Versicolor c. Rana Hexadactyla

d. Hirudin aria granulosa e. Answer not known

SPHHTEmID  alevhiGaeled o IpHTed o efen Geuglll GuUTHeMTeISH BJHH DIISHHMDHD
GMBHGD WHHHIH6T SHUTThal LuIeTLBE6ITmeoT.

a. @MaBLTB®He &luyeil@everd b. &G a0 GeuflendGameuit

C. gmenm GeuflerdBameui d. anfmgGeriwim @yreniGsomeam

e. alewL GFMwealedensv

converts the light rays into impulses and sends the signals to the brain

through the optic nerve.
a. Retina b. Cornea c. Sclera
d. Lens e. Answer not known

QoM BHHTHMET  LOGIIHITENIL 60H6NTH  LoTHN  DeuBenmLl  UTTened BT  aublwims
CPMETHE DI@ILILD UsnlSenensd OFuIS B
a. alfsHHeny b. &mieflwim c. erodeflym
d. Gevesa e. alewL OHfwaledenew

Cane Sugar is made up of three elements , and

a. Carbon, Nitrogen and Oxygen b. Carbon, Hydrogen and Oxygen
c. Carbon, Calcium and Oxygen d. Carbon, Hydrogen and Iron

e. Answer not known
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LoBmILD SFU STl HeOTLOMIGHENTT60

a. SITU6T, eMBLJMET WBHID oubflmer b, &6, ewaml 76t WwHBEID o dhF a6

C. &MiTueT, STeodWld oBmID SLohde6mr

e. alewL Oxfweailedensv

d. snmitue, enami yege Gy

59. Match the following measuring instruments with the physical quantities they can

measure:
A. Hydrometer
B. Saccharometer
C. Lactometer

D. Alcoholometer

A B C
a. 1 2 3
b. 3 4 1
C. 3 1 i
d. 1 3 4

e. Answer not known

1. density of sugar in liquid
2. levels of alcohol in spirit
3. relative density of liquid
4. creaminess of milk

NINDN&J

&6 CaETGHaILLBeiTen. malBd HHalsmen DiFH DeTallSHdnlgul QUIBLIULIED LICWILIHETHL 6T

QUT(HSHHIS.
A. emam Gymiomend
B. gnss@ymomen
C. eorsBLmiomef
D. wgiomest

A B C
a. 1 2 3
b. 3 4 1
c. 3 1 4
d. 1 3 4
e. alewL GFMwealedensy

60. Match the following:
A. Karakoram pass
B. Zojila pass
C. Bamdila pass
D. Nathula pass

A B C
a. 3 1 4
B. 4 3 2
C. 3 4 1
D. 2 1 4
E. Answer not known
QUTHSHHIS.

A. amGsmyD SHewieuTUl
B. Gxmadleor semreumul
C. Qumbigeor Sewteumul
D. mrgleor semreumul
A B C
a. 3 1 4
B. 4 3 2

. gTidamIuiler SILT&Hd)
. SMITWSHIHeT DILTH
. Beudden GUULTHS
. umelall SILTSHE

1
2
3
4
D
4
2
2
2

1. Himachal Pradesh

2. Sikkim

3. Jammu and Kashmir
4. Arunachal Pradesh

D
2
1
2
3
1. BwrFger FCxHaID
2. Hebdb
3. Sb(p-FHTOROT
4. o|mewm&FeollzGaHgFLD
D
2
1
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C. 3 4 1 2
D. 2 1 4 3
e. alewL OxMweailedensv

61.  The British era bridge which collapsed in Morbi district is situated in which State?

a. Haryana b. Karnataka c. Gujarat

d. Madhya Pradesh e. Answer not known

Quommi  wralLsHFHeo Bubhgk aluphsd YHRSCWT  &HTeL  UTeOD  6Mhg  LOMHeVSH S0
SIMLOHRHI6TENSHI?

a. emflwmem b. &ipr_sm C. GHXWYITH

d. wsHw yCxHad e. alewL OHfNwaleenew

62.  The erstwhile Mid-Day Meal Scheme is renamed as

a. UMANG b. Bhavishya c. POSCO
d. PM-POSHAN e. Answer not known

(PhemSW WHW o ewiey FHLSHer wm Guwim wrg?

a. o _Lomml b. ualajw c. Gumerd@srm

d. PM — Gumages
e. alemL OFfluaisvensv

63. Which among the 2022 Nobel laureates of Physics demonstrated quantum

teleportation?
a. Alain Aspect b. John Clauser c. Anton Zeilinger
d. Didier Queloz e. Answer not known

2022 Gmrued  ufdewen BuBlwessts GeuaBaliTseaileas ‘GauTaiLl  CHTme0HHTHIG
BOL (empenl’ QFUIg ST 1uieuT uwimr?

a. Slmevelt SFGILIGL b. gmer &eneysit C. SIGHIL6T MHFEIMBIBT

d. #8H6w BxBeur e. alewL Gxflwealsvensv

64. Assertion A: The Arabian Sea branch of South West monsoon gives Heavy rainfall to
the West Coast of India.
Reason R:  Itis located in the windward side of the West ernghats.
a. (A) is true but (R) is false
b. (A) is false, (R) is true
c. Both (A) and (R) are true; and (R) is the correct explanation of (A)
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
e. Answer not known
FgBm (A): QHaiBuBEg umeaud STBBlar DLIssLe0 damenuiemmed SbHuwralesr GomE
&L GeoMy LGHHB6T DIFHB evpenl GCLpIS a6
amend (R): @bg ugdHser Gomg CaHTLIFH wevevsellar &SmBm  alsd  Hevguied
SDIMLOHSHIGTEITEI.
a. (A) eeiug af syemed (R) erediug seum
b. (A) eeug seum, (R) eeiug af
c. (A) oppid (R) @yewid Ml srgewid (R) sgamm (A) 23 alend@dBg)
d. (A) opgib (R) Byewig afl smewid (R) aappisster (A) gflwrer allendsid Oie060
e. alewL OGFMweailsdensv

65.  Which of the following Wild Life Sanctuary is located at Tirunelveli District?
a. Mudumalai Wildlife Sanctuary b. Mundanthurai Wildlife Sanctuary
c. Indira Gandhi Wildlife Sanctuary d. Point Calimere Wildlife Sanctuary
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e. Answer not known

LT evT61 (e 6dTeUMBMI61T ohS aUeTal 60MmIEG, FJEMITELLILD F(H6HeLG6ES LoTeUL L &8560
SIMLDHFHI6TENHI?
a. (IPHIDEM6L QUGTIATEUMRIF FJ6emlTeVUILD b. (WewILbglenns aIaalevnid &FJewlITeouLD

C. BpHmanhd auaaleonid Fyeumeouwld d. Camouibme] eITaNeORIE FJeuTeVUID
e. alewL OxMweailedensv

India is the largest producer of Coffee globally.
a.2nd b. 4th c. 7th d. 9oth e. Answer not known
o & M1 o BusHFHuwed EbHaHwm SUBH Bl HMDH UBHHH MBS

e. alewL GxMweailedenev

Choose and Match the correct answer:

Author Literary Works
A. Dhanvantri 1. Surya Siddantha
B. Varahamihira 2. Amara Kosha
C. Aryabhatta 3. Brihad Sambhita
D. Amarasimha 4. Ayurveda
A B C D
a. 4 3 1 2
b. 4 1 2 3
C. 4 2 1 3
d. 4 3 2 1

e. Answer not known
CuUTHSHFH alenL H([H.

ST ST ®eodha WL ILIEnL LIL|
A. sereupbdifl I. &Tw FHHaMbeHT
B. eugramiogym 2. SIDYBHTOGT
C. syt 3. Umamg gFoansism
D. suogdlibor 4. U TGeugT

A B C D
a. 4 3 1 2
b. 4 1 2 3
C. 4 2 1 3
d. 4 3 2 1
e. alemL OFfluaisvensv

was the Jain name of Appar.

a. Dharmasena b. Harisena c. Theerthankara
d. Sivagnana Sithiyar e. Answer not known
SILUfledT Foewr OHHHe LT
a. HToGget b. ofGzem C. HTSHHHBIT
d. Heuepmen gHHuwmit e. alewL OFfwalsdensv

‘SATRIYA’ dance was famous in

a. Manipur b. Kashmir c. Assam
d. Odissha e. Answer not known

‘FHHWT BLEID 6H%H LOTHEVSHH60 LSOLBBE

a. ewiliy,T b. srayfT C. OFMD
d. guar e. alewL OHfNwaledenew
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Which of the following statements are correct About Dr. Sachchidananda Sinha?

i. He was the oldest member elected as the temporary President of the Assembly.
ii. He was, elected as the Vice-President of the Assembly

iii. He was elected as the President of the Assembly.

a.ionly b.iand iii only c.iand ii only

d. ii and iii only e. Answer not known

g Fneahs Fersrenal LUBPw Fllwmer gmpplener GHiho%H B oS D

1. g @Fsmuuier cpsHs o pililanms sBeTels Hemevaugrs GHThHoleHaEILL L.
ii. 9T BFgFmuuiear FHlenen HmevauITs BHThoSHH&:SLILIL LT

iii. ot @FFemuuier sHemevaugts CHThoGHH&BLILIL LT

a.1 wl@w b.i wBupnb iii o GHo c.i wmmub ii wr @b

d.ii wBmub iii w G0 e. alewL OxNwealeoenev

Which does not take relationship between the Centre and the States are?

a. Legislative relations b. Administrative relations

c. Financial relations d. Public relations

e. Answer not known

GTEURUMBIITET 2 36| HHUI LTHY HFFSEHHESH SenL G Es0ens0

a. FLLIOSIB 2 [B6sHe6l b. Bieurs o Bmeybei c. B 2 meysel
d. Gurgleums 2 e el e. alewL OFMNuialeoeney

Who among the following decides whether a bill is a money Bill or not?
a. Speaker of Lok sabha b. Attorney General
c. Parliament Affairs Minister d. Finance Secretary

e. Answer not known

SpdbHemiauBmleT @ CFTHTmey BFH  wCFTHTT  Sevevdl  @BFHT WEFTHTEUT  eTed
STorelsb@d DSHSMILD G TeuL euiT

a. &HDHENME FUTHTUIST b. @b SPFeT HmEVEMID UDDHEGM]EhT

C. BILTEHLONB aleUBTT DIEHOFFT d. pHsaemp Ggueor

e. alemL Oxflualsdensv

. . . 1
Write the equivalent fraction of 6 2 % ?

1 1 1 1

a. — b. — c. — d — e. Answer not known
8 12 16 18
1

62% & F0WTel LI 6UQeuSHaHe0 6I(LDSIS.
1 1 1 1

a. — b. — c. — d. — e. alenL QxfNwelsvenev
8 12 16 18

Find the single discount in percentage which is equivalent to two successive discounts
of 25% and 20% given on an article?

a. 55% b. 60% c.75% d. 40% e. Answer not known

@ Gummellar 15&1 eupmsILGD B OHTLT  SHeilepLigser (WedpGuw 25% wBpd 20%
aeled DHMBE MHErTer @By FOTRIH HTEPLYF FHOIHHHMEND HTERISH.

a. 55% b. 60% c.75% d. 40% e. alenL QxfNwelsdenev

Find the LCM of 156 and 124
a. 4326 b. 4386 c. 4826 d. 4836 e. Answer not known
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156 wBmId 124 &@ WFFB OUTHIDL BIG SHTeuT

a. 4326 b. 4386 c. 4826 d. 4836 e. alewL OHfNwaledenew

Find the L.C.M of the pair a?2 + 4a - 12 and a? - 5a + 6 whose GCD is a - 2
a.(a+6)(a-2) (a-3) b.(a-6)(a+2)(a-23) c.(a+6)(@a+2)(a+3)
d.(a-6)(a-2)(a-3) e. Answer not known

aZ+4a-12,a2-5a + 6 s dweuppient 15.0ur.eu. a -2 erefled L5.GUT.LD. HTewis
a.(a+6)(a-2)(a-3) b.(a-6)(a+2)(a-3) c.(a+t6)(a+2)(a+3)
d.(a-6)(a-2)(a-3) e. alewL OFflwalevenev

If the ratio of Green, Yellow and Black balls in a bag is 4 : 3 : 5, then if there are 40 black
balls in it, then the total number of balls is

a.72balls  b.84 balls ¢.96balls d.108 balls e. Answer not known

QM emuulled o 6ilem UFMF, LEhFeT WLBMID SHUYL UbSHSeTar aldHsd 4:3:5 uGLb.
Siemuuied smULL Ubhgiseer eleuienidmae 40 eleled, GLTSHIHL LbHSHIS6T6  6T6mI60ldHems

a. 72 upbBHHel b. 84 upgiser C. 96 UbFIme6i

d. 108 upzsiBeN e. alenL OQxNwealsoenev

A bank pays Rs. 240 as interest for 2 years for a sum of Rs. 3000 deposited as savings.
Find the rate of interest given by the bank.

a.3% b. 4% c.5% d. 6% e. Answer not known

@0 amdwrerg Gy OxTenswns eeudssiul L Rs. 3,0006@ 2 spoibhsendsd RS.
2402 el UL IQUITES GUPRIGHBS! 6TeTe0D DIGUAIEIS QIRIGD Iy aHHNHd HT6wIH.

a.3% b. 4% c.5% d. 6% e. alewL OQFfNwelsvenev

The bacteria in a culture grows by 5% in the first hour decreases by 8% in the second
hour and again increases by 10% in the third hour. Find the count of the bacteria at the
end of 3 hours if its initial count was 10,000.

a. 10,700 b. 10,800 c. 10,376 d. 10,626 e. Answer not known

QM UMSBWITRT UTdhleflwm, (pHeoTaudh @b el BhroHdled 5% euenT&dud, SJewiLToug
wenll  CEIHH0 8% euenTsFdd GO, cwaBTeudl  Wewl  CBIHHe 10%  euenTEFFulb
SIDLIBH. OHTLHBEHH0 DG elewieniidbensd 10,000 L5 SHHHH  6Teme0, cLP&IBI  Lo6wf
CrrsanBaL LIBG DIH6T 6IeuremnibmBbenid HTewldb.

a. 10,700 b. 10,800 c. 10,376 d. 10,626 e. alewL GFHNwealsvensy

If the total surface area of a cone of radius 7 cm is 704 cm?, then find its slant height.
a.32cm b. 23 cm c. 25 cm d.52 cm e. Answer not known

704 F.055 QrHSL UpLLTLy CaTewiL @b dniblier SuJb 7 GFLS erefled FToyUITD SHTEmIS.
a.32cm b. 23 cm c.25cm d. 52 cm e. alenL QxfNwelsvenev

Find the lateral surface area of a cube of side 12 cm.

a.144cm?2  b.196cm? c¢.576 cm?2  d. 664 cm?  e. Answer not known
12 Q&6 uEs SleeyeTen QH SOFFHTHHT LSS LTI SHTEw0ISH.

a.144 Qg2 b.196 Gz.152 c.576 Qz.152 d. 664 QF.152 e. alewL Oxfwalsdenew

If “-“means ‘multiplied by’
‘x” means “plus’

'+’ means ‘divided by’
and “+" means ‘minus’
then find the value of
14-10x4 +16+8
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a. 6 b. 142 c. 134 d.-2 e. Answer not known
‘BOGHFH0 Gl GLIHEBBHE0THLD

‘QURBHED’ GBIEMW  Fnl L 60THELD

‘FlL60’ GBI aIEHSHHEVTHLD

‘AUGHHD GBlW HLPSHHEUTHD 6SHTEUOTL T60

&y srewr: 14 -10 x4 + 16+ 8

a. 6 b. 142 c. 134 d. -2 e. alenL QxfNweledenev

Which colour is in opposite to the plane having blue colour?

Green Red Blue Porple
£ s
35
Red Orange ﬁ Purple Yellow
a.Yellow  b.Purple  c. Orange d.Green e. Answer not known

Bev BBSIHET IHTHeND 6hd BBSHSL BBHGL?

LE@s fsiy peow g
9 9
¥ < ¥
haiiy WS e e
a. LEhFel b. eagr C. OJGha d. usems e. alewL QFflwaledenev

Find thesumof2+4 + 6 +...+80

a. 820 b. 1620 c. 1640 d. 1660 e. Answer not known
FmbHeo FTewid 2+ 4+ 6 +...+80
a. 820 b. 1620 c. 1640 d. 1660 e. alew OFfwaledenew

Assertion and Reason Type:

Assertion (A) : Pulithevar tried to get the support of Hyder Ali and the French.

Resason (R) : Hyder Ali could not help Pulithevar as he was already in a serious
conflict with the Marathas.

a. Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

b. Both (A) and (R) are wrong

c. Both (A) and (R) are correct and (R) is the correct explanation of (A)

d. (A) is wrong and (R) is correct

e. Answer not known

gflwmer gmpenpd Caiey OQFuis.

oo (A): yals8peut, emassT oe) BDID GsTLT Gurisefled FHUL(BS GLIB (LPUISTBIT.
smyenid (R): wgrsdHwisCamp  gnsaBau  Oami Gumisefisd FOULGS CBTENNIYHHSSHTE0
maBHT DeVWmed LelHCHaumdb@E 2 FHeau(ppuimosd GuTeigi.

a. aapp (A) wppw smend (R) Grewipd sf eaeioid smemd (R) appm (A) sorer
giwmer alensbsd E)60en6v

b. spm (A) wBpw smeud (R) oudw @rewiGGL Heumpraiame

c. &y (A) wppd smped (R) edwenen &fl, smyewid spm (A) eweu  sflwmsGe
allend GBS

d. eapm (A) seupteng smenid (R) sflwmens

e. alewL OFflwealsdenev

Assertion (A): Gandhiji opposed the ‘Communal Award” of Ramsay Macdonald,
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Reason (R): To get Dominion status from the British.

a. Both (A) and (R) are correct

b. (A) is wrong but (R) is correct

c. (A) is correct but (R) is wrong

d. Both (A) and (R) are correct and (R) is the correct explanation

e. Answer not known

By (A):  gmbCsx  CuwsGLmemmedl.  eupmIAW  auGliyeunfl Q&I HHAHUIGBHENT
THTHSHTIT

asrgewid (R): GQLmbieflwer SbsHevemns mSGowimseaild Bhbhah GCLBISHBHTS.

a. &pp (A) wopd smyewid (R) SyewiGn &

b. aBm (A) seoup spemed sryewd (R) sfwrerg

c. apm (A) &fl suemed smjenid (R) seumpmers

d &ssp (A) wBpw smewd (R) SremGGo &M eyemed  smpewd  (R)  sflwmer
a6 BLOTGLD

e. alewL Oz Mwalsdaneo

Name the Tamil Book was published in Goa in the year 1578.

a. Viracholiyam b. llakkana Vilakkam c. Thambiran Vanakkam
d. Tolkappiyam e. Answer not known

1578 @60 Gameuraled Geuelul L SO UHSHBHH T GUWIT Fnpis.

a. eGamPuib b. @edsan alenssid C. SHWLIPTET eUEMTSHHLD

d. Qzmevsminiuid e. alewL O fwalsdensv

To whom does Valluvar compare the wrong doing ascetics?

a. Actor b. Fradulent c. Sinner

d. Hunter e. Answer not known

&HB1H OCFwevseiled FHLGBL HeubCHTe0HH60 2 6iTemeuTHemen aUeTEHeUT WTIHL 6T QUILTBaImmT?
a. [BIg&T b. euehasmit c. ume

d. Geau Heur e. alewL Oxfwaledenew

What is compared by Valluvar to the sweet music of Veena (Yaazh)?

a. Child’s Babble b. Parrot’s speech c. Beloved’s words
d. Post’s words e. Answer not known

wrenpal  Seflenowimend 6161l 6UaTEHEUT 6THenel LILNBEMT?

a. WPmevF GFmed b. defluler GFmed c. &1H) Gamey

d. salepT Gamed e. alew OFflwaledenev

One who possess these are considered as lion among Kings

i Army, Subjects, Wealth

ii Ministers, Allies, Fort

iii Fearlessness, Charity and Education

a. i alone is correct b. i and ii are correct c.iand iii are correct
d. iii alone is correct e. Answer not known

GTeUBeNB 2 6wl WeuT Seiueufled gm Gumespeuit?

1. UL, G, Flp

ii. SIm&Fs, BL L], SIFewT

iii. ©ehaFTemID, FedH, HeLA

a.1 B b.i wBupb ii wr G C.i wmmub iii o Hib
d.iii o’ @b e. alewL OHfNwaledenew
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What are the three things to be shunned in order to dispel pain and sorrow?
a. Lust, Wrath and Delusion b. Knowledge, Love, Affection

c. Fear, Shyness, Blindness d. Happiness, Wrath, Sorrow

e. Answer not known

‘BT OBLS CBHBHEHTUI’ 6TeT®I aUeTEHEUT eTeuBemBa  GMILILNHES eTmiT?

a. &M, Geuger, LuldbsLD b. ey, Syeoiy, LTFLD

C. SIFFID, [BTewID, LOL LD d. 2 _aums, Qeugel, Sipms

e. alewL OFflwealsdensv

Ettuthogai and Pathupattu are the collection of poems.

a. 2400 b. 3400 c. 4400 d. 5400 e. Answer not known

Il (BHOFHTMHUID, USHIIUTL B  GBHSTLD UTL60&BemeNd  OBmemi.  Ee0db sl
&([H6Y,GVLDTGLD.

a. 2400 b. 3400 c. 4400 d. 5400 e. alewL GFfweaisdenev

“Better bullock carts and freedom than a train de luxe with subjection”. Who said this?
a. S. Satyamurthy b. A. Subbarayalu c. Annie Beasant

d. Rukmani Lakshmipathi e. Answer not known

“OIFHbalear UFHBEHLET dnlgul JuleJled SIYMLEHNTE SBHUILMSAIL SHHIHTSHBHIL T Falgll
wom’ B euewngBuw FBhHeHH” 616l FnnslulieuiT

a.S. FHHweTsha) b. A. aliugmwey C. ojetel GLF6

d. msweni e &oug) e. alewL OFflwailsdensv

voiced the interest of the depressed clauses in the Round Table

Conferences.

a. T.M. Nair b. Rettaimali Srinivasan c. M.C. Rajah
d. Pandithar Iyothee Thassar e. Answer not known

QBHBLILLL  10&H6e SHEHHBEHHITE Il L Coengy WIHTL Q60 GHJ60 OBTBHHHEUT

a. 19.61b. [BTUIT b. &yl L bemev Ferfleuraest C. enb.gl. gmegm
d. uewngsT DBWTHSH HTaT e. alewL O flwealsdensv

The Sharda Act raised the minimum age marriageable for girls years.
a. 10 b.12 c.14 d. 18 e. Answer not known
gmiiem FlLsHFHer Ly Ouenisellar SHHLOmI UG

a. 10 b. 12 c.14 d. 18 e. alewL OFNwealeoenev

The universal declaration of Human Rights was proclaimed by the United Nations
General Assembly in which place?

a. Paris b. Europe c. US.A. d. Canada e. Answer not known

o eugemmalwl weld o flevwser Gurpdmawneaigd |m&Hw  BTGH6T OuTgd  Fenuulermed
gionend BlevpGeaumpri L. @b 61g%?

a. umflerd b. eGymium C. 96l

d. semL e. alewL OFfwalsdensv

The Kavalam SOS App was launched by which Government?

a. Government of India b. Government of Tamil Nadu

c. Government of Kerala d. Government of Karnataka

e. Answer not known

HTEUGVST 6TeT0G6TENY GFWeenW 61h%H DIFF IBIIPSLILGSHSH WIS ?

a. @pHW SIS b. &G s c. Gxyenm S
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d. spiLs oya e. alewL OFflwailsdensv

The quantum of Groundnut production in Tamil Nadu is

a. About 7 lakh tonnes b. About 11 lakh tonnes

c. About 15 lakh tonnes d. About 21 lakh tonnes

e. Answer not known

SODBTL 960 Blovd SLenev o BLSHHullet Sieme| eresrent?

a. FLLSSH L 7 60T LGISH6T b. AlLsa L 11 VgD Leiicber
C. LGS L 15 euL&D L el d. AlLgslL 21 el g Leiicker
e. alewL Oxfweailedensv

Tamil Nadu is the highest producer of

a. Rice and Pulse b. Banana and Coconuts c. Coconut and Ragi
d. Banana and Pulses e. Answer not known

SLODBTL 960 HFHBD 2 BUSHWTGD OUITHL SH6iT

a. oflfl LBLID LB 6UMBHENT b. eutenip wBBID CHmiIBTET

C. CpmaTul wBmId Frs d. eutemip WBBID LGB GUMBBH6I

e. alemL OFfluaisvensv

Assertion (A): The Ahobila Mutt and Many others have made distinctive contribution
to the cause of education.

Reason (R): The medieval period saw the founding of many religious mutt as the
cause of education.

a. (A) is true but (R) is false

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. (A) is false, (R) is true

d. Both (A) and (R) are true but (R) is not correct explanation of (A)

e. Answer not known

aBp (A): oGapmileor LD BBID L6w LOLMis6, UsTealser, elaBTImiseT Hevalsbsns
SHONSHBHIULOTET LmISaTLmLE OQFUIgeTerne.

smyewd (R): SeLsamed L6 1DF  OLEISEDHD, LOLTOUWHSEHD  Heval euenT&fosns
BB L &S eIl Sl

a. (A)sfl (R) seum

b. (A) wBpiw (R) &M, (R), (A) samer sfwrer afenssd

c. (A) wpmpw (R) &f

d. (A) wBp (R) &M, (R), (A) sarer sflwmer alendsd @edemnev

e. alewL OFflwealsdeneo
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